PN E2ETWEW
B CRISUsE(s
el RVINFXNYE &

(et &8)

CRECISD 170,797,646 174,604,442 13,806,796
= 2,359,200
z 56,593,000
= 7,279,922
= 104,565,524

CRNSYHE(+SLNE/ER) 140,010,707 148,991,679 £8,980,972
2 56,593,000
3 83,417,707

INBXNYE &5 42,204,642 43,899,000 1,694,358
= 38,331,000
= 3,873,642

MOI~QE ©F S TIBAH(ZED) 17,250,000 13,100,000 4,150,000
= 17,000,000
3 250,000

401 A& HI 2R OHYI 17,250,000 13,100,000 4,150,000
= 17,000,000
= 250,000

01 Al&H 16,920,000 12,780,000 4,140,000
ONEZBA ¥ 2SN 7Y 16,670,000
2 16,670,000
O8N, NEE % JlEtay 250,000

02 22l 310,000 310,000 0
oBAZ2l 310,000
z 310,000

03 Al& = ohl 20,000 10,000 10,000
OB AR i 20,000
2 20,000

HYGHSA T2 & BEBAH(ID) 17,000,000 12,005,000 4,995,000
2 17,000,000

401 A& HIZ Y 17,000,000 12,005,000 4,995,000
2 17,000,000

01 Al&H 16,596,000 11,615,000 4,981,000
ON&EBA ¥ 2ZTH 7 16,596,000
= 16,596,000

02 22l 384,000 370,000 14,000
oBAZ2l 384,000
z 384,000

03 Al& = CHHI 20,000 20,000 0
OBARCHHI 20,000
z 20,000

UM T2 HEHBA(2D) 2,331,000 7,828,000 5,497,000
2 2,331,000

401 A& HI LTI 2,331,000 7,828,000 5,497,000
z 2,331,000
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2A:

H:

e9l:

CE2ECNEN
CE2USLES($
SN LE &

FNS/E2)

Off O

2,292,100

[
40
P
o

01 Al&H 7,563,000 £5,270,900
OAEZA & 22T 7 2,292,100
=1 2,292,100
02 22/t 38,900 250,000 A211,100
O A2 38,900
ol 38,900
BIRLAZ £2 SERTAH(ZD) 3,000,000 0 3,000,000
=l 2,000,000
[ 1,000,000
401 Al £ HIZ 201 3,000,000 0 3,000,000
= 2,000,000
[ 1,000,000
01 Al&H 2,730,000 0 2,730,000
OANEZA & 22 7L 1,730,000
z 1,730,000
O=X, NS L JEIaa A 1,000,000
02 221t 260,000 0 260,000
OT AL 260,000
2 260,000
03 Al& SCH b 10,000 0 10,000
OZ ALY 10,000
2 10,000
QIREX T2AY ET 2,623,642 2,626,000 12,358
402 BIZEXHEOI A 2,623,642 2,626,000 2,358
01 BIEEE 2,603,642 2,626,000 A2,358
ODIANZEEY SE82 2a2 B 2,000,000
ODIAZEYE S82 20 ca8A 623,642
NYs &= 97,806, 065 105,002,679 A7,286,614
= 18,262,000
S 79,544,065
NYEe @ HLALXY 579,565 2,923,837 2,344,272
101 @124t 47,000 45,500 1,500
04 JI2 22 NSES 47,000 45,500 1,500
OXYSE MEBXAF 01248 47,000
201 LEr2 S| 32,000 52,000 £20,000
01 Al 22IHI 32,000 52,000 20,000
o=gY A=22 17,000
ONSYHSHNHHACS 29 10,000
OAEIIE HHANRE S 2 5,000
202 04 Hl 9,000 9,000 0
01 2L 01l 9,000 9,000 0
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Lk

M

=L

CE2ETUS
CZusSYS
Nge &5

O &2

(St &)

O=HAIY 2 X2 PR 9,000
207 S 1K EHH| 41,565 247,337 2205,772
01 AP ESH| 41,565 247,337 A205,772
Oz - Ex7d NEZY &d - 1Al 41,565
401 N EHIZ 2] 300,000 320,000 220,000
01 AT H| 300,000 320,000 220,000
OXNLE H=EEX 24 300,000
403 XXt SA=01A 150,000 2,250,000 42,100,000
01 XM EE = 150,000 2,250,000 22,100,000
0Z: ¥ sUHEZZE HEZ(1HD) 150,000
ANLe 2y 30,000,000 31,200,000 21,200,000
401 AIZHIZ SO 30,000,000 31,200,000 21,200,000
01 Al HI 25,000,000 25,000,000 0
ONYE &L 25,000,000
02 22t 4,800,000 6,000,000 21,200,000
OXNYE SHEH 4,800,000
03 A& 20HYI 200,000 200,000 0
OXNYE =HILH 200,000
AL HWIRY o4& 40,000,000 35,000,000 5,000,000
401 AlEHIZ 201 40,000,000 35,000,000 5,000,000
01 A& HI 40,000,000 35,000,000 5,000,000
OX¥E Egs & &#2F 40,000,000
L XS FHl 1,800,000 1,700,000 100,000
401 Al BIZ 28] 1,800,000 1,700,000 100,000
01 Al H| 1,800,000 1,700,000 100,000
O-=ASuZ Mote 1,800,000
Y Ol ctdaty 23,000 | 145,000 A 122,000
201 LEeH2AH] 3,000 35,000 232,000
02 22| 3,000 35,000 232,000
OXNEZ AL &clthat SM=E 3,000
05 HHa=E 20,000 20,000 0
o1&t =S 20,000 20,000 0
OXNLT AL =aHHi &S 20,000
BETE IERIML(S2) 9,791,500 12,548,000 22,756,500
& 6,212,000
= 3,579,500
401 AlEBIZ 08I 7,159,000 10,806,000 A3,847,000
= 3,579,500
< 3,579,500
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A

H:

01 Al&HI 7,143,000 10,786,000 3,643,000
ONEBA L 2IXM 7Y 7,143,000
2 3,563,500
= 3,579,500

03 Al 52 THI 16,000 20,000 24,000
O A CHH| 16,000
2 16,000

403 "X SHSKH20I® 2,632,500 1,742,000 890,500
Z 2,632,500

01 XX SHHI A2 2 = 2,632,500 1,742,000 890,500
OA - 2 ABET2AENA 2,632,500
= 2,632,500

DEADRSRIHL(ZD) 2,269,000 986,000 1,283,000
z 1,929,000
< 340,000

401 A& HIZ ST 680,000 0 680,000
= 340,000
= 340,000

01 AI&H| 680,000 0 680,000
ONEBA L 22X 2 680,000
= 340,000
= 340,000

403 REXISHHI S X+ 0l & 1,589,000 986,000 603,000
Z 1,589,000

01 X SHHRERE 1,589,000 986,000 603,000
OAl - 2 DEADFER HA 1,589,000
= 1,589,000

OIRI0I2E A MM (S D) 4,092,000 5,269,000 21,177,000
2 3,750,000
- 342,000

401 AlEHI LSO 684,000 902,000 £218,000
Z 342,000
[ 342,000

01 Al&H| 684,000 902,000 £218,000
OAN&TA L 2SXN 7Y 684,000
) 342,000
< 342,000

403 XXI SRS K20l & 3,408,000 4,367,000 £959,000
z 3,408,000

01 X SHHR=EE 3,408,000 4,367,000 £959,000
OAl - 2 of2lo|E25 R A 3,408,000
2 3,408,000

OIME BHEY X&(3D) 3,570,000 7,350,000 £3,780,000
2 2,160,000
< 1,410,000
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(Bt &)

401 NI EHI LSO 2,820,000 3,900,000 21,080,000
z 1,410,000
= 1,410,000

01 Al&HI 2,814,000 3,893,000 1,079,000
ONEZA L 2SXN 2L 2,814,000
z 1,404,000
= 1,410,000

03 Al& 01| 6,000 7,000 21,000
O AR 6,000
et 6,000

403 XX SHH S X201 & 750,000 3,450,000 22,700,000
2 750,000

01 XIS A= 2 X 750,000 3,450,000 £2,700,000
OA - 2 OHEBH HHMSAXAN 750,000
2 750,000

OI2I0IOt MY AN HOI TRt RE(21) 781,000 0 781,000
= 781,000

403 RHXISHRI S K20l A 781,000 0 781,000
2 781,000

01 "X SHH A= S X 781,000 0 781,000
OA - 2 O{RI0IEE L CCTV & XA 781,000
2 781,000

SN =MEsc2(=21) 4,900,000 2,140,000 2,760,000
= 3,430,000
= 1,470,000

401 N EHI LS 4,900,000 2,140,000 2,760,000
2 3,430,000
= 1,470,000

01 Al&HI 4,900,000 2,140,000 2,760,000
OSEI X H2H WM (X YE4605) 4,900,000
= 3,430,000
= 1,470,000

DEHH NH(LELDE/HNEDE - SRSIIE 12,965,265 10,790,234 2,175,031
=2 2,359,200
= 7,243,022
= 3,363,043

HEDSEMHIA 84 3,944,200 2,356,000 1,588,200
= 2,359,200
= 1,585,000

WEDSE MHIA Ha 389,000 96,000 293,000

202 014l 34,000 46,000 212,000

01 2LHOTHI 34,000 46,000 212,000
OHZENE 28 L NFZHAY sX=ol 24,000
OO0 U FSRNEX 24AY NS 10,000
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2A: E2EEWUEN
HY: NS¥E NH(+3sLNS/HHERS - SRSIIEY
Hel: WS nSAHIA S (&t

o

207 IR 20,000 45,000 225,000
01 AR ESH| 20,000 45,000 225,000
OEA 28 - 2E HIAJ0 Het dSEH 20,000
307 2iz2tol A 155,000 5,000 150,000
02 QA AEX 25,000 5,000 20,000
ORYuEIIE T8 FxJ 2 MWEXE 5,000
OLSEMA AASL(2SCR2S) 20,000
05 BIZtRAES 130,000 0 130,000
OZS0ISXALEH (SHE) £ - 29 130,000
403 XXt S X201 & 180,000 0 180,000
01 HXSHHMA=2ER 180,000 0 180,000
OOAXSXEIDE SZMH 180,000
HatAa =2(=21) 2,149,200 1,760,000 389,200
= 1,339,200
[ 810,000
403 XXM S X201 A 2,149,200 1,760,000 389,200
= 1,339,200
=S 810,000
01 AXSHRE2EE 2,149,200 1,760,000 389,200
ONM&AHA &g 2,149,200
= 1,339,200
S 810,000
COXE=28IISE#X. 22X (=2) 806,000 0 806,000
= 620,000
= 186,000
403 MXIEHH S X201 & 806,000 0 806,000
= 620,000
< 186,000
01 XM 22X 806,000 0 806,000
OULNEg2HdIEELHANLY 5 806,000
= 620,000
= 186,000
WEAK SENSHH B2(=1) 600,000 0 600,000
= 400,000
& 200,000
403 XXM SA=01H 600,000 0 600,000
= 400,000
[ 200,000
01 AXIHMA2E X 600,000 0 600,000
Onsadl SENsS+H 23 600,000
= 400,000
S 200,000
Hsus WX 9,021,065 8,434,234 586,831
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2H: S2EZNED
Y NEHH N (+SLNE/HSWS - EFRSIIEH
e HEus MEXE (e+9):

pd
o

= 7,243,002
[ 1,778,043
4% WHEH 3,652, 140 3,652, 140 0
& 2,273,413
= 1,378,727
307 ©I2+0| & 3,652, 140 3,652, 140 0
= 2,273,413
= 1,378,727
09 24AHEBE2 3,652, 140 3,652, 140 0
ONSIHASEAIY HEXR 3,652, 140
= 2,273,413
= 1,378,727
2o WEX 4,518,504 4,000,000 518,504
. 4,518,504
308 X XI EHXI SO & 4,518,504 4,000,000 518,504
= 4,518,504
01 RIXICHHZAEX2 4,518,504 4,000,000 518,504
OANU, SOHEHA SSAIY HEXS 4,518,504
= 4,518,504
SR SAPA 598,974 566,094 32,880
= 199,658
= 399,316
308 XHXICHRIS O & 598,974 566,004 32,880
2 199,658
= 399,316
01 RHXISHHIZ AR XS 598,974 566,094 32,880
O HXLA APA 598,974
? g 199,658
= 399,316
QAUEH ZHHAKH 251,447 216,000 35,447
= 251,447
308 XIXI RIS O & 251,447 216,000 35,447
= 251,447
01 RIXISHHIZABES 251,447 216,000 35,447
O 2XNEAN ZEHAXH 251,447
= 251,447
HHSAAH(C2HEEDED)(IIEH/IIE) 58,000 45,965 12,035
Jl=&| 58,000 45,965 12,085
2429 J1=2A 58,000 45,965 12,035
201 Y2 Y| 36,000 33,965 2,035
01 AHR22IHI 36,000 33,800 2,200
Sh2Y AR/ 36,000
202 OfHI 22,000 12,000 10,000
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BN E28

M BHe

el J|g2a

==amE=an ]
SHH(ZE2ET W
i

S (I1EHIIE

(&t &)

01 2LHoil 22,000 10,000
oRA22 2ol 22,000
RS (EREEDSH) (FSLNE/E) 17,763,674 14,776,564 2,987,110
£ 36,900
3 17,726,774
SHXE 17,763,674 14,776,564 2,987,110
= 36,900
< 17,726,774
NYE 8y 15,316,331 12,281,248 3,035,083
= 36,900
= 15,279,431
311 MY 201K 6,916,331 6,881,248 35,083
= 36,900
< 6,879,431
01 Al - SXIGHL ) SR Z0I R4 & 6,322,740 6,001,093 321,647
©'0BKIYE SHEI(XAMLIIZ) 720,000
©'7NYE HEI(XAMLIIS) 1,200,000
©'0BNIYE HEI(XAMLIIS) 400,000
©'09KIYE HEI(XAMLIIS) 1,200,000
©'10NYE SHEI(XAMLIIS) 1,200,000
O MAYE SHEI(XAMLIIS) 1,000,000
©'12NYE HEF(XAMLIIS) 602,740
06 JIEFX+ S OI KF & &+ 593,591 830, 155 286,564
O'BlYE HTH(ZBNI) 48,494
= 36,900
= 11,504
O'0INYE HEH(ZENI) 483,672
O'BNYE HEF(HSK) 61,425
601 XY BRZ B 8,400,000 5,400,000 3,000,000
01 Al - EXISHL) I SHYSHS 4 & 5,000,000 2,000,000 3,000,000
©'0BXIYE SEI(XAMLIIZ) 2,000,000
©'07NYE HEI(XNAMLIIZ) 3,000,000
06 JIEFZ NI 2RS4t 3,400,000 3,400,000 0
O'B\ILE HEFH(BBX2) 1,500,000
O'BLE HEZ(HEXS) 1,900,000
2OMRRX L E F I 2,327,343 2,375,316 247,973
311 Y201 1,327,343 1,375,316 £47,973
01 Al - SXIGONLII SR Z0IRA & 360,000 400,000 £40,000
©'062INAXYE FHI(XHHLIIZ2) 360,000
06 JIEHXHRI 20| Xkt & 967,343 975,316 A7,973
©'09ZINBNLE HHI(ZENS) 967,343
601 MY BRI A 1,000,000 1,000,000 0
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A E2ETnEHN
HM: NWRES(C2HETWSH)(+ELWNE/TR)
BHel: BEXE (

a
10

Hol @R

r

1,000,000 1,000,000 0

01 Al - SXIGHLI IS IS4 E
©'06=INMXJXNLE FHB(NHHLIIZ) 1,000,000
A2 2=2MA 120,000 120,000 0
311 X S0l AtaLE 120,000 120,000 0
01 Al - =X SXL SO0l XHa & 120,000 120,000 0
O'10AEEZZE PN (XML INZ) 120,000
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